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1, mmwmﬁwﬁmmﬁma@awkwﬁmﬁ%ﬁ
qdteTr & v AR fomar o=r g1 e 39 99 A sreq fafte $r & ar O &
HTIR TS AT el T & dl A9ehT eIfEar sredisha 1 Seet|

You have been called for the written test based on the online data furnished by you in the web application. If you have

wrongly entered in the web or you do not possess the required qualification as per our advertisement, your candidature
will be rejected.

2. 9T gie # fAlere i 3ulRufd & & 39 sl-Rec/eRkiue W eFdRR FaT 1]
You should sign the hall ticket / photograph only in the presence of the Invigilator in the examination hall.

3. URF-UF 60 YAl A JF YA-GRAH F T A
The Question paper is in the form of Question Booklet with 60 questions.

4. 9T & oo & & AT el NTANR SecoR-qRedahr & Srea|

A separate OMR answer sheet will be provided for answering the Questions.

5. mm”aﬂﬁﬁgﬁaqw-gmwm(vmg@@, AN 3cR_IRTR T
Hfése a7 REar =T

Question booklet series code (A/BICID/E) printed on the right hand fop corner should be written in the OMR
answer sheet in the place provided.
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6. UH-TRGH H YA A T IHTHAT T o
Enter your Name and Roll Number correctly in the question booklet.
7. JUAIR Scal-qieaer F @l vfaffear Aeiereh @@ & afa e 99 ¥ & 6 o
EIRY
All entries in the OMR answer sheet should be with bluefblack ball point pen only.
8. US tq MURT @ & R w, AT oder 9’ sert § @ awgse ®9 &
' g1, e & Shael U 3ERTY §7 @ TE g

The written test will be of objective type based on the qualification prescribed for the post with four answers indicated, of
which only one will be unambiguously correct.

9. 39, SccR-gfedesT # QU 710 3eeell & IgaR, sAel/eel Ty & §id uge o &
3THIR ScR-gieder & Heftd JHiae 1 3ifFad Fh TE ek 1 TIT FET B

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen as per the instructions given in the answer sheet.

10. T 9 & foU 37 3caR Id AT ST el 3Rl & [T P 3is% o8l &=
AT
Multiple answers for a question will be regarded as wrong answer. No negative mark will be given to wrong answers.

11, Tofg afien geeiare gl & 3fey HRfel, Hederes, Hursd Pl 92l Hed gl
I, IrST-GEd, Ae Hfe oIl T HeTATY FET & Sust]
Computers calculators mobile phones-and other electronic gadgets, text books, notes etc., will not be allowed inside
the written test hall.

2. S8 o7 Bl W, HUANR Ic-qRdH S FW F e [Ked 4 R 3R e
HUANR SecR-qiecenr 6w wr 8T qor ggd ofq s o @)

On completion of the test, tear the OMR answer sheet at the perforation mark at the top and hand over the
original OMR answer sheet to the invigilator and retain the duplicate copy with you.

13, ge-gfeaes el oer O @ wFA E

The question booklet can be retained by the candidate.

14, TR & gue € & AN srvardat @ ofen g ois e Ad 2
Candidates are not permitted to leave the examination hall during the first hour of the examination.

15. 3AfAl # WETER § THEREERE-ST WA & v & fRd aler e
ST Bl

The written test is conducted only to shortlist/screen-in the candidates for interview.

»
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SFcHAA & fIT 99A-UF/Question paper for Draughtsman

g4 formsh g1l 39T W 95 gl §2/Which of the following has threads at both ends?

(a) Slec/Bolt ' (b)  TTT Slec/tap bolt

(c) ¥<3/stud - () Ehlscrew

uRd‘a’ @ FFd fordl FE # FaE s ed ——————— B

Surface area of a cube with side ‘a’ is

(@) 6a’ (b) 6a ©) a (@ 32
e giaica 19T & 3T AT o197 & WA & §9 g o fre §

If dimensions of male part is larger than female part, the fit is

(2) HHAUT e/ Transition fit

(b) =ITAFOT fhe/Interference fit

(c) Ta=ie Mre/Ringing fit

(d) Eq‘{iaa-—cr H wer 30 Ai/none of the above

frérer e fead 9 @1 s@HoT ——— ¥

The included angle for the British Standard Whitworth thread is

@ 29° (b) 47.5° © 55° d 60°
Tdg frfaer A ————— wdlies arr Rfafise frar srar 2

Surface finish is specified by the symbol of ,

(a) dlPR/Squares (b)  dcdleircles

(c) 12?|'{F1?~I>I?,Tril=[/paral]eloglrarl.l (d) PEepIvTAriangles

PR U FHATIAIT ——————— W 1T AT ¢ I/Square threads are usually found on

(a) o asEr H@ﬁ'/SpindIes of bench vices
(b) YoId FRS W/railway carriage couplinng
(c) TG 1 RBYsa/Lathe Spindles

(d) dreT SiS/Bolted Joints

GET IT ON
Google Play
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7. UH YR A9 a8 § fSTS1/A basic shaft is one whose
' (@) =1 fage=s T §/Lower deviation is zero

(b) 39R TaTeleT =T §lupper deviation is zero
(c) w1 Tur 3yR e T &/Lower and upper deviation are zero
(d 3‘?{1‘?‘? #H ue oY AGY/ none of the above

8. 38 AT gfkar & g S gafeas @ag Fofd & B

Select the machining proc;:ss which gives best surface finish
(a) WI=I/Grinding ‘ (b) Fd=/turning
(©) ﬁqﬂ'/ lapping (d OfFTreaming

9. 61N, 8 TAL TUr 1047 F BHIT F ATFT ——— ¥

Area of a triangle having side 6cm, 8cm and 10cm is

(@) 48cm® (b) 60cm® (¢  30cm’ (d) 24cm?
10. 100 H°¢’ & 3@l et R &1 317 $/A clearance fit specification of 100 Hg’
means that

(2) GIEAEd® AHR 100" mm B/Actual size is 100" mm
(b) FA PR 100mm @/basic size is 100mm
(c) TEAfAH AR TN HT AR & F HT 100mm et Fdifference between actual

size and basic size is 100mm

(d) S'Q'{ﬁ)ﬁ #H TS 877 Figi/none of the above

1. Sofad affsoar ———— & v uge & St §1/Geometric tolerance is provided to
(@) 3MTH & [ATAUT/Control dimension
(b) 31'@_% & ﬁ'ﬁi’a’UTlCc;ntrol ;hape
(¢) TEufd & AF0T/Control position
(d) 3mehiar T fEufa & fAF=T/Control shape and position

12. IT 1% 38R AF Fie[dr ————— & SN &
As per IT 1, standard tolerance is equal to
(a) 0.002+0.8D (b)  0.8+0.002D
(c) 0.45¥D +0.001D (d 0.001 ¥D +0.45D
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13. =g 40 efaarer v PRI & T gea = 240 AL § & geaor g ——— ¥,

If a Gear with 40 teeth has pitch circle diameter 240mm, the circular pitch is
(a) 18.84 (b)y 17.84 (c) 16.84 (d) 15.84

14, gehe-@-a1 3 — i sy afysoer #

The symbol ‘513" means the geometric tolerance of
(2) JMeS/Roundness (b)  HE-3&igdl/co-axiality

(c) TEf/position N (d)  Hhgdl/concentricity

15. SR AF & TR WiESOIar ISt 1 FHel FEAT

Total number of tolerance grades as per Indian Standard is

(@) 8 (b) 12 (c) 16 (d 18
16. ————— HIFCITX FT IUIT b 287 SIS [T ST ThaT B

2D drafting can be done using the software

(a) 3iTcI$s/AutoCAD (b) A= FEFd/Solid works

(c) FIATCATIA (d)  39gewd HeM/AL the above

17, —————— & a7, 9% @ 3d gff W & 6l 9aral 7 @r oF g & T} 3K g8
e % i &
* In ———————, the observer is at an infinite distance from the object such that the line of

projections are parallel to each other and perpendicular to the projection plane
(2) fad% 9EY/Oblique projection (b) FEHITOIFH T&TI/Orthographic projection

(c) ™ geiu/Pictorial projection (d) 39dFd # TF & Fdi/none of the above

18. AR #HeTh F TR IURA fawreiet A For Fear
Total number of fundamental deviation as per Indian Standard
(@ 10 (b) 15 ) 20 d 25

19. & R smamm @ 200990 & w F ufdcaed Rear o wear & o afesoEr
gl

When a dimension is expressed as 20 , then the tolerance is
(@ 0.035mm (b) 0.025mm (©) 0.01mm (d) 0.06mm

+0.035/-0.025
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20. S50 H g° & raepmell wararster fafaders ar 319 B/A clearance fit specification of 50 H gﬁ means
that

(2) T&g &1 H%WFIT IZ 7 aUT YUC FT 6 g/Tolerance grade for hole is 7 and shaft is 6

(b) AwT T QST 5 7 aAT B FT 6 ©/Tolerance grade for shaft is 7 and hole is 6

(c) A*T T H‘%W_FIT Iz 4 & 8 T aur BF T 3 F 7 d& E/Tolerance grade for shaft
is 4 to 8 and 3 to 7 for hole

(@ T&g @ F%W]D?IT UZ 4 & 8 dF dUT &1 A%< 3 ¥ 7 dF g/Tolerance grade for hole
is 4 to 8 and 3 to 7 for shaft

21. o9 R 90T & 3T F GEET SeH JAvar g § dr sefeed 3maer # At &
Hafead® ARy ————— B
When a number of dimensions of a part have a common datum feature, the best way of
dimensioning in engineering drawing is
(2 %I_'E-IFJT fdATH=1/Chain dimensioning
(b) TATKR faHF1/Parallel dimensioning
(c) HITAT TdHATFHA/Combined dimensioning
(d) 3—‘:@3’?{ H Ts #f7 FA&i/None of the above

22. T gard @ Rewad 1 FRd Fearem qOTEH HiT-ar §2
Which is the property of a material that indicates the stiffness of the material?

(2) 0.2% CISHE TTHTH/0.2% Proof strength
(b) IS H AITH/Young’s modulus

(c) 8T H Y% Heldd/% Reduction in area

(d) % EreifeRuT/% Elongation

23. T 3T AT 3TRTOT B AT H —————— FEd o
Repeatability of a dimensional measuring instrument is called
(a) tTF'{Q*]“E?IT/Precision " (b)  TATAAT/Accuracy
(c) -TI=Ta3 FI3e/Least count (d)  HagAMId/Sensitivity

24, fafdet g2r Rl & Amwrer & H7g6 fFaer dest &ar &2
In the case of Limits and Fits, H7g6 refers to

(@) TS ITAHOT fe/An interference fit
(b) 37aehIer THe/A clearance fit

(©) 3117:‘}'?% H THHAUT/A transition in shape
(d) HdeaTeeldl/Sensitivity
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25. 3SAT v @ g M FT AT/ Volume of a sphere with radius ‘r* is?
(@ 23zr (b) 453xnr © =r @ 2z

26. fA=Taf@d # Il 0T 98T T Tl TEATAT]
Identify the symbol for third angle projection from the following.

(a) - (b) a.._.._._
(c) _.._..ﬂ_.- (d) ,._..-.._ :

27. FeRAHR —————— & AU 9¥Fa ST S §1/Clinometers are used for
(a) dT9ATT HTYT/Temperature measurement
(b) f@% AMYS/Linear measurement
(c) ST FAY=/Angular measurement
(d) H\UICAT ATY=T/Flatness measurement

28. e a1 i FORAGT ——————— & T H RN A o F

Hardness of a material is defined as

(a) E@TUT & Yfar/Resistance to indentation.

(b) ST & YTaRIe/Resistance to elongation.

(c) Tomi¥ees & UfaRiel/Resistance to plastic deformation.

(d) YIRY YRadT & fcRiE/Resistance to elastic changes

29. qdwE & TF F FROT TS FFT FC H —————— F ey Fhar e g
Due to the torque in a shaft, every cross section of it is subjected to
(a) =TT FTdael/tensile stress (b) TUEF ufdael/compressive stress
(c) IFRYOT Yicddel/shear stress (d) ST gTddcl/bending stress

30. m‘l’#wwﬁmmﬂﬁmwaﬂﬁﬁmmmm%‘ﬁaﬁm

HTOY —————— g
A cantilever beam of length ‘I’ loaded at the tip with force F, the root bending moment is
(a) Fl (b) FP () %FI (d 2FI
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36.

37.

247

GET IT ON
Google Play

S & HEY H, @A AW gFT B geclT T5 H 5 Aol #/Moment of inertia of a

circular section of diameter ‘d’ about the diameter is

"

md? . md? md3 . 7d3
@ — ® = @ @
ST SARIT IeaAc el & FOX fa@mar Srar § at e &1 FEd &l
When plan is shown above the elevation, the projection is called
(@) 9YH PIUT/first angle (b) Fj_?-ﬁ?r I0T/third angle

(c) TITATET/isometric (d)  TE2Wperspective

10 x 10 x 5 H?JITSXSXIOWWWqﬁﬂmﬂﬂmﬁgmaﬁoofvolumeofa

vessel of size 10x10x5 and 5 x5 x 101is
1

(2 2 & = © 25 @ 1
HIF-AT oA &/Which one is false?

(@) sin(30)=0.5 (b) cos(60)=0.5  (c) tan(45)=1.0 (d) sin(60)=0.5
FiA-aT HET 8/Which one is trﬁe?

(a) sin®(30) +cos®(30) = 1 ()  sin®(60)+ cos*(60) = 1

() sin’(45)+ cos(45) =1 (d) 3T @Al of the above

I U gdell geciy f3FF HP AUT VP & &F & &, SHEAN A0 TUT Iewtaier §fa thin

circular disc is perpendicular to HP and VP, its plan and elevation are

(a) STFAT Ueh IWT §, 3eaIchier TUh ST dcd g/plan is a line, elevation is an ellipse

(b) TFAT TH &Y Jed &, 3ooIdir UHLET g/plan is an ellipse, elevation is line

(c) IR TUT oA GlAT TWIT g/both plan and elevation are lines

(d) eI JAT 3eaTdir SlaAT arer ged g/both plan and elevation are ellipses

T FAFONT [T & o 9rRd 3om a4 om §1 A FoT

right angled triangle are 3 cm and 4 cm. Then the hypotenuse is

(a) 7cm (b) 12cm (c) Scm

(d)

&/Two sides of a
14 cm

1264DM


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

38. 10 x 10 x 10 fic &R daler T HAL 7 FW0FdA Fae das 1 &3 (@3) w@r o1 g&ar ¥

»

Maximum length of rod that can be placed in a room of size 10 x 10 x 10 feet is

(@ 10+10+10 ' () /(10 + 10+ 10)
© (10>+10°+10%) @  |(10*+10%+10?)
39. 3EA H A F B —————— ydF EIRT SAITAd fonar SITar &/Sphere radius is
represented by symbol in drawing by
(a) OR (k) SR (©) OR (d) SPR

40. Eﬁﬁﬁm@’ AT T tar Feir §, e - K6 ?/Isosceles triangle is a triangle having
(2) T aqred AT/ all sides equal
(b) & 9T THT/2 sides equal
(c) T o ured TAT FG/No sides equal
(d) HY HIoT GHAA/all angle same

41. Uk 51 oNT & &l FAIEY Ural & &g & 3egqr €/The ratio between two adjacent side

of a drawing sheet is

(@ 12 ) 143 @) 1:05 @ 11

42. A0 IR & 5T Me T &Fhd —— F Ahe §/Area of an A0 size drawing sheet is
close to
(a 025m’ (b) 0.5m? © 0.75m? @ 1.0m?

43. UH HEAT F 991 36F fSerder 3mem &1 A HEAT §/Square of a number is just half of it.

Then the number is )
(@ 1 ; (b) 025 ©) 0.5 d 2

44, TH FGI FT TG &1TBe 150 m’| SHHT AT m® §/Surface area of a cube is 150 m% Its volume
in m® is '
@ 125 ®) 100 © 130 @ 110

45. Yfase T ?{\ﬁ_c." &/Unit of stress is
(@ N/mm (b) N/mm’ (¢) Nmm (d) N/mm?

A 9 | 1264DM
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46. TH TR W AT Thal & 9 BT & da1$ #7110 ¥ Rl B amar ¥ afhr

& Ycde 3RS §/0n a Vernier, the length of 9 division of the main scale is dividea into 10

divisions. Each division of Vernier is
ik 9

@ = ® = © % @ =

10

47. 3HiEIFs AR F UF AW F BN wHE ——— F AT ¥In Autocad

software, the effect of freezing a layer is to
(2) T AT FoAA AT EI.acrfc{tlo-ll Udhsl/make it invisible and prevent regeneration

(b) SH 3TW §I1 dAT ‘flj?-ﬁﬂ?ﬁ =1 Gel/make it invisible and allow regeneration
() T 17 IR FIJFI'fﬁl?-!T T Set/allow visibility and regeneration
(d) SR & Y& T adT TiRfET Aaal/display the layer and prevent editing it

48. 3TeI%s AivedWw ﬁ,r fFaf@a # O *ig-ar TEr &/In Autocad software, which is true?
(a) P IR FET &1 ST g/Frozen ~layer not gets printed
(b) s a’ﬂ?ﬂﬁﬁ STEl g SITaT g/Hidden layer not gets printed
() &S AR &=l §/Hidden layer is visible
(d) IeeT g BT W alat ﬂﬁ?f gl ST 8/Both frozen and hidden layer get printed

49. 3iferhs WHeday 7 & WA GaRT UF del i Wag = & Q0 g Hais & w@ir
Far Srar &/In Autocad software, what is the command used to make a surface bounded by
broken lines

(@) T3 /trim (b) 3TRaT/offset (c)  TRAT/area ) iﬁﬁmr/regiop

50. HCIhs WIFCdA # F9 "Foll ——— & T 52T a7 ST /I Autocad software,
F9 key is used for
(a) grid on/off (b) snap on/off (c)  ortho on/off (d) U snap on/off

51. 3ictHhs dAwedm® # uelc dU IET BEAl & AT TEEew A FAM
g/In Autocad software, the extension name for template and drawing files are

respectively
(@ .dwg& .bmp (b) bmp&.dwg (¢ .dwr&.dwt (d) .dwt&.dwg

A 10 1264DM
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52. 3icihs Areda # A FHS & U HETTd ®T §/In Autocad software, abbreviation for

Rectangle command is
(@ R (b) REC (©) RCT (d) . BE

53. 3crhs dAFeday H ST FAE & v d@fficd 9 ¥In Autocad software,

abbreviation for Dimensioning command is
(a) DIM {b) D (e)  DBL (d) DI

54. 3feiohs AFcdW H Ve INITTT MIRRTEXT &7 3339 — &/The purpose of the set
variable MIRRTEXT in Autocad software is to
(2) TSI & A it tad Fe S ?»T:ID' CFES I ETH T=AT=1/to enable text to be mirrored with

the drawing

(b) wTAfSTadT I THT THFEC FI 31591 A BCl=ATto delete the text from drawing when mirrored
(c) orEar & Try yiafsfaa aa TAT TaEe T FIUT o AT/ not to copy the text when

mirrored with drawing

(@) vfafsfaT Fa gaa TFe At AeTaT/to move the text when mirrored

55. 3IErhs T H,ACT Tl T TANT il HAL, UACHE HIVT & AT ORI HIoT &
" f&em &/ In Autocad software, when using rotate tool, direction of angle of rotation for +ve angle is
(a) Ef@Umad/clockwise
(b) dTHTEcH anticlockwise
(c) FT 'ﬂ\ﬂ?ﬁ'c." #r feem/direction of cursor movement
(d) T E[\Ui?l' el BIdT g/there is no fixed rotation

56. 3HCIhE AFCATT F ‘stretch’ gel T YT & TFcd/When using the “stretch’ tool in Autocad
software, ;
(@) Fea,drdedisR H WiET ST Hevdl §/Circle can be stretched into ellipse

(b) Fed X ger Tl IS WTT T8l 6/tool has no effect upon circle
(¢) gcd, BT ST Fehell /circle can be deleted
(&) g, AT ST HehdTT B/circle can be moved
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57. 3iicihs HiwedaR & AR v ATX dg § alifa layer is locked in Autocad software,

(a) TP §¢ o # =GN 87 SS1 S Hehal/details cannot be added to a locked layer
(b) TH &g oRR ¥ =GN germ o ghar g/details can be erased from a locked layer

(c) TH ¢ R & AR AL SIST AT g1 ST TFaT t/details cannot be added or erased
from a locked layer

(@) TF dg AR F @ e o qwAr &, AT BioT AT IS aFF IUTE B

g/details can be added to a locked layer, but disappear on saving the file.

58. TUeh SllIReT 39T H uR=add €T &7 Y@reaeT o deFd/When hatching a sectional

view in an engineering drawing,

(a) 9R=SeT dor CaRT Heir ﬁFj‘H HIC T YWTTSIC AT 1 fgWevery detail cut by a section

plane must be hatched

(b) TE FrEAT W R & & 5w a7 & Yareoes SR S St is wp to the

draughtsman which part are to be hatched

(c) 3ZIZT & TRl ol 87197 T YW@TesTET FaT ol 37T Qehl =8l g/there is no need to hatch any
part of the drawing

(@) IRHET T F 3T & diec F1 WSS STol foRdT ST §/a bolt within the sectional

view is not hatched

59. UH 3HicIhs IS T U DXF WSl & &7 7 JF Y & HROT &/The reason for saving
~ an Autocad drawing as a DXF file is
(a) I% Tl o g@¥ CAD 3iferdher & @ierm ST Fehar it can be opened in any other
CAD application
(b) Tg HITA & T FF I AT it takes less space for storage

(c) IE MS a5 H W ST Fohel &/ it can be opened in MS word

(d) Ig Acrhs & CI%??{ TERIIT ?ﬁl' GIell ST [FHaT 8fit can be opened in earlier version of
Autocad

60. UNDO HAS &I fauded #tat & AT FEY FAZ &/To reverse the UNDO command, the
correct command is

(a) REDO (b) REDRAW (©) Esc @ U
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